\J\P(T“k 3\\ - “oww«)([ -‘%18 — SOLUT‘\OMS

Sedaon  2-3

)@ 7{2(@\: Lost (“‘CJ;) + sint (—C@a’) . _%\—C-)

() [V = R = =stat (T-7)+ oyt (T +7) +

A

2

@% W = ést“,wgg P+ (siat +w3{>ﬁ oL
4—//%-

\ \ 3
S gosd = i—% = W= \ﬂﬁ‘m{f wst) %t (sl + cost) +-E}J

. R 2 |
= WW‘% (,osl-( ¢ SMWS-E ‘r.}:}.

TTI v,

1 C,oNsTANT
— J.—Y—L = S+l o
Ly W \[‘/’ ]Z )
Q@ Ascuz.\wo\\m -3 W= VW = R 0 sePee

\ G ) = — Cost (- -3 estnd (T +7)
. 6003{, %S\V\"())\ A (wv']@ *’5“’({53

(o) w\ﬁ&j&g T(t\-— (_l_\_@ _
R\
é(@) = _3-_2_—_ (:-sm{: (‘&j) + st (t-j) + —ZL\c>

- é 2 sfnt+_2_-.w§9f+ _%sawtaL_t,o@j LR
5

( “D S low erO\LOJ& < fs Coustant 12
loe A =25 =0 WMo
O& N + Q N \;‘:: + QL‘bL Cos@
a \-‘N\.—- L va\ - K ( l_j\" K
> Oowa‘rcw\”co M
: s

° o < = %l_\ ‘ ‘*{ (*(O‘)i'tS(ﬂB-L(LOﬁ_GS\n'O = (-‘.’L_F

V) o Ve\w\v 2\
) speed 3

l/




_Vg’f“ 3\ - NoweworK FQH —  SotumienN$ &
we Wene e %\\OUJW\} C/\»@»facg@/‘ﬁi&xm o5

(e In 015
S2TN \,\g,\\\/\ 0-@ Co-éw\oﬁ Q w\‘\‘('\ oYX\ 9 ch%‘:\vwl \\\J\FOUQ\\/\ POUC(\
Rl) N ecxb\\ﬁzs\ \0 owi \lec&‘o( S \V.Q_y\ _\
R \C\\,\-\_\z\c.w&o,& %WQAQW\ é)f o UV\\&V veJters ‘, Qj‘-
R. + ¢ ws*t Q’i + @ﬁnit e, + ot QB

WiMa Tis ol -é~3 . }\j

rﬁtt\ =Tz Cost éa @ st éaz “5‘_‘ 1€

Thig is on <l Mpse iy W\r‘%}c‘—};\s T Z-=xis
(P,cvqw\g) TL\fOUc‘L\ O> UU\\H/\ @ @:E °W'—1-

Q[er“ QTM[ slhe 0\:’_{_ Yy,

oo L Mu




METH B\~ Vowewe K 8 — SoLUTIoN S (>

&&(M 2.3 ) g
[(?'Cf :H:Cf& P\(’h\: Qoa ({Zwti) /T—l- ({”ZO\(Q‘LOV\"L>\512E'HC
-
= <
_ o2& 7 1- 2 \/ ZE
() Vi RI(t)= i A+ ( e =
Gpeed = Wl &) = \»\sa_ R (H—’C BT
(20\- 12
= \th 5 (El—-ﬂ + 8 (AT
\ + 1=
= \Y‘it”—\(&”‘—z’cﬂl\ + 8 (L2t +tY)
|+ L*
- Yo +\8£L+q \F‘ ’0\‘*210\ 3\ @*+\
e 2 T
dS A | 4 &
- ° ———-—L‘-/ S e L—OV\B\\’QA\“ S pRe
<\ s
(L,) Fad  wrvetuee K. e 0= S5 cg_s _
O W) = r O N
o\@B\Qw&W\ O\UC> ’V% W . sQQ,Q(\/ \sumé@&

O = .
ok W= \ada

e bl |
ﬂ

Now  Ql\= V()= 2L7'+\)-2Jo(2’c = (*—2(2&\> _-2£+9._;_% -2

Qtz-k\)l (H’&)Z ktl’f \j‘ O%j
aley) =\ AT L g b sl (g i
ol =\ S RS

(L442)% ()
at -

2 >
L+t \_kj (4 42) \



